20/09/2023
(~) Starter

Addition Subtraction Multiplication Division
717 6 6 4 X 80 2 Total
+ 366 - 191 90 5190
v+~ > v 7 4
82 x 94 =
Multiples of 4 Square numbers Even numbers
4x 1 = 12 = x = 12, , ., ,20,22, 24, 26, 28, 30, 32
4x 2 = = x =4
4x 3 = = X = 9
4x 4 = =4 x 4 = Odd numbers
4x 5 = = x = 25 .o, 21, ., 29, 31
4dx 6 = B2 = X =
4x T = = x = 49
4x 8 = = X = 64 Prime numbers
4x 9 = = x = 81 5 7.
4x10= =10x 10 =

Time’s Up!



20/09/2023
(-) Starter - Answers

Addition Subtraction Multiplication Division

717 6 6 4 x| 80 2 | Total 0 3 8
+ 36 6 -1 9 1 90 | 7200 | 180 | 7380 51 9 0
10 8 3 4 7 3 4 | 320 8 328

82 x 94 =| 7708

Multiples of 4 Square numbers Even numbers
4% 1 =4 2=1x1=1 12, 14, 16, 18, 20, 22, 24, 26, 28, 30, 32
4x 2 =8 z = g % g = 4
4x 3 =12 ¥ =3 x3=9
4x 4 =16 42 = 4 x 4 = 16 Qdd numbers
4x 5 =20 5 =5 x5 =25 11, 13, 15,17, 19, 21, 23, 25, 27, 29, 31
4x 6 =24 Gzzﬁxgzg
4x 7 =28 72 =7 x 7 = 49
4x 8 =32 g = § X § = 64 Prime numbers
4x 9 =36 ¥ =9 x39 =8 5,7,11,13, 17,19, 23, 29
4x10=40 10*=10x10= 100
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Copy into your books!

/. Nets

An index (plural: indices) 1s:
bP

when b1s a ‘base number and p1s a ‘power

There are different rules (or Laws) that we have
to follow whenever we work with indices.



Copy into your books!

/. Nets

1) Multiplication Rule
x® x xb =x

a+b

Q) Division Rule (sign OR line)

xa
_ . b __ —b
X_b — .X'a — X = Xa

3) Brackets Rule (everything inside to the power)
(xa b — 5 aXDb

Eg (3x2)3 = 33x2%3 = 275



Copy into your books!

/. Nets

4) “Zero Power’ — anything to the power of zero

1s equal to one

x¥ =1

5) ‘One Power’ — anything to the power of one
1s 1tselt



Copy into your books!

- Model Answers

Simplify
ax’ xx9=2'° b z2+24=28 c )2=p?

Work out the missing power.
ayzxywzya b n=nd=nb ¢ (w6?3=w



Trial Practice

Ql.

Qa.

Q3.

Q4.

Qs.

simplify y* X y?
Simplify ' +  y?
?JE

simplify (y

&

... m
Simplity me

Simplify fully 2e*f X e?f®

Trial by...

Think. Pair. Share.

‘/ Mini Whiteboards
Multiple Choice

Spot the Mistake!




Practice

*

* X

* Kk

A1

Write (4°)* as a power of 4.

Bl.u

Write (23)3 as a power of 2.

cl1.L
Write (59)10 as a power of 5.

AL B2.L c2u
Simplify: Simplify: Simplify:
21 .95 33 =36 66 = 6°
A3.L B3.L c3v
Simplify: Simplify: _ )
35 . 34 54 - 51 Write (6472)" as a power of 4.
A4 L B4.L (o R J)
_ Simplify: Simplify:
2\1
Write (34)' as a power of 3. o1 x B o7 2 95
A5.L B5.UL C50L
_ Simplify: Simplify:
5\3
Write (2¥)° as a power of 2. 52 . 51 5567 = 42
AB.L B6.L Cé6.L
Simplify:

Write (35)1 as a power of 3.

5-5 x 5-2

Write (5'1)11 as a power of 5.




czvu

civ

4-42

(o2 XJ]

2—1 2

Cc5u

430

ce.v

5—11

B2.vL

B3.L

B4.UL

B5.UL

B6.L

A2L

A3.L

Ad4L

A5.L

215

A6.L




1. 4dabx 2¢ =

2. 12xx3y=

3. 4mn x 3pg =

4, 4a°x 3a =

5. 12m’p x 2mp?=
6. x®x 3x*=

/. 0.5a°x 6b?=

8. 3m’p x3m’p =
9. Snm x Snm =

10. dac x 2ea =

M
~
0

SIZJ;B -

5. brst+ 2rs =

6. Dmp + 15m*=
o _
20x?

2h3
3. Ja*h _
ac

28mn*
21m*

8abc

10. a2

Simplify:

1. (x¥P)P=

2. (6x22=
3. ()=

4, (3=

5. (4m?P =
6. (522 =
7. (2b) =
8. (3% =

9. (Zm?)* =

10. (22 =



1. 8abe

2. 36xy

3. 12mnpg
4. 12a°

5. 24m’p?
6. 3x8

7. 3a’b?

8. 9mp?
9. 25n*m?

10. 8a*c*

10.

8.

9.

16m*
25y%7*
32b3c'>
2/a'?

T1om'?

10. 3%



=

END

Last Lap (Plenary)

Simplify (g5 + g%)°
_ (95—3)3 — g2%3 = g6

Amber | Calculation & presentation mistake. I know where I went wrong.

Green | Correct! I feel comfortable in this topic. Write:

/ Lesson Objective Achieved




